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Candidate 1 
Marks: 5, 8, 6, 1 = 20 

 
Question 1 
Marks: 0, 2, 1, 1, 0, 1 = 5. 

 
A) Incorrect possessive pronoun. 
B) Answer correct linguistically and semantically. Full marks. 
C) Message only partially conveyed as there is no verb. 
D) Incorrect spelling of ennuyeux creates ambiguity. 
E) Question not understood and verb incorrect. 
F) Required information is supplied but there is no verb so full marks cannot be given. 

 
Question 2 
Marks: C-5, L-3 = 8 

 
Communication and Content: 
Response has clarity in a few parts but is frequently ambiguous. Bullet point 3 (transports en 
commun) has clearly not been fully understood as candidate talks about travelling by car and 
bicycle. 

 
Linguistic Knowledge and Accuracy: 
Basic vocabulary and grammatical structures used. No complex structures attempted. 

 
Question 3 
Marks: C-3, L-3 = 6 

 
Communication and Content: 
A basic response. Some of requirements of task are met but message breaks down 
occasionally. 

 
Linguistic Knowledge and Accuracy: 
Simple range of vocabulary and structures used; some accuracy but errors often present, 
especially in use and formation of verbs. 

 
Question 4 
Marks: 0, 0, 0, 1, 0. 

 
A) Meaning not conveyed. 
B) Meaning not conveyed. 
C) Meaning not conveyed. 
D) Meaning partially conveyed but verb is incorrect. 
E) Meaning not conveyed; use of English word. 



 
Candidate 3 
Marks: 12, 16, 19, 6 = 53 

 
Question 1 
Marks: 2, 2, 2, 2, 2, 2 

Appropriate information required by all six prompts is conveyed with correct verbs. 

Question 2 
Marks: C-10, L-6 = 16 

 
Communication and Content:



All three bullet points addressed in mainly clear messages. All messages are fairly detailed 
and relevant to the task. Facts and opinions are justified. 
 
Linguistic Knowledge and Accuracy: 
Simple range of vocabulary and grammatical structures used. Message clearly conveyed 
despite some minor errors. Verbs in present tense are accurate. 

 
Question 3 
Marks: C-10, L-9 = 19 

 
Communication and Content: 
A very good response with relevant information presented to meet all the requirements of the 
task. All three bullet points are addressed. 

 
Linguistic Knowledge and Accuracy: 
A very good variety of vocabulary and grammatical structures. Accurate use of tenses to 
meet requirements of task. 

 
Question 4 
Marks: 2, 0, 0, 3, 1. 

 
A) Meaning is conveyed. 
B) Information is not conveyed. 
C) Incorrect verb makes sentence unclear. 
D) Meaning is fully conveyed. 
E) Meaning is partially conveyed only, due to use of English word (waiter). 
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Candidate 1 
14+14+5 = 33 

 
Question 1 
Marks: C-7, L-7 = 14 

 
Communication and Content: 
A good response that addresses all three bullet points. All messages are fairly detailed and 
relevant to the task. Facts and justified opinions are expressed. Mark of 7 rather than 8 is 
given on account of errors which could cause obscure the message at times. 

 
Linguistic Knowledge and Accuracy: 
A reasonable variety of vocabulary and grammatical structures used. Some successful 
complex structures. References to the past and future tenses are mainly successful. 

 
 
Question 2 
Marks: C-9, L-5 

 
Communication and Content: 
A very good response which addresses both bullet points. Facts, ideas and opinions are 
clear. 

 
Linguistic Knowledge and Accuracy: 
Some variety of vocabulary and structures used, including some attempts at complex 
structures. Both major and minor errors present, which accounts for the mark of 5. 

 
Question 3 
Marks: 1, 1, 0, 1, 2 = 5 

 
A) Meaning is partially conveyed. 
B) Meaning is partially conveyed. 
C) Meaning not conveyed; incorrect verb and use of English ‘responsible’. 
D) Meaning is partially conveyed. Incorrect verbs. 
E) Meaning is partially conveyed. Past participle not used. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 



Candidate 3 
Marks: 18, 26, 8 = 52 

 
Question 1 
Marks: C-9, L-9 = 18 

 
Communication and Content: 
An unusual approach but one which produces a very good response, addressing all the 
requirements of the task in mostly clear messages. Facts, ideas and justified opinions are 
expressed. 

 
 
Linguistic Knowledge and Accuracy: 
A good variety of vocabulary and grammatical structures are used. Generally, a good level 
of accuracy with the occasional major errors. Some complex structures are successfully 
attempted. References to the past and future tenses are successful. 



Question 2 
Marks: C-17, L-9 = 26 

 
Communication and Content: 
A excellent response. Communication is clear and very detailed. Facts, ideas and opinions 
expressed and justified. 

 
Linguistic Knowledge and Accuracy: 
A very good range of vocabulary and grammatical structures used, including a wide range of 
complex structures, with mainly minor errors. References to past and future tenses are 
successful. 

 
Question 3 
Marks: 1, 2, 1, 2, 2 = 8 

 
A) Meaning is conveyed but grammatical error present. 
B) Meaning is conveyed with only minor error. 
C) Meaning is partially conveyed. English word used (responsible). 
D) Meaning is conveyed but major grammatical error present (verb). 
E) Meaning conveyed but with omission of pour. 
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